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(1) Question no.1 is compulsory
(2) Attempt any four questions out of remaining six questions
(3) Tlustrate answers with sketches wherever required

l.Answer the following questions (any four):

(a) Compare between connection oriented and connectionless. Q‘o’
(b)  What do you mean by bit stuffing and destuffing. A‘b/
(c¢)  IP is the best effort delivery serivce justify : N
(d)  What is the use of subnet mask in [P addressing. &QY‘
0 &
2. (a) What is IP addressing? State different classes of IP addressin \%ith Netid 10
and hostid. _ =
(b) Explain each feild in the TCP header format. <<<§<}> 10
w S5
3. (a) Compare between HDLC and PPP and Explain dif@@nt modes of HDLC. 10
(b) Compare between OSI model and TCP/IP prot%@‘&sun. 10
4. (a) What is exteriour routing protocol? Explaizb@?t brief. 10
(b) Explain need of fragmentation and relat@bfeild in IPV4 datagram. 10
' @]
~ 5. (a) Explain how sliding window protoc{g('Phls used for error control. 10
(b) Explain in brief EEE 802.3 standavd in detail. 10
Q‘?‘
6. (a) Define ALOHA? What are i@f‘types? Compare between the ALOHA types. 10
(b) What is congestion? Expfin any one technique for congestion control. 10
. : O
7. (a) Write a short note 63/(any two): 20
(i) DH
(i1) - Ttéfnsmission media
(iii) , e M/G/I mode
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